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Answer all the questions

Use the Multiple Choice Answer sheet provided to answer section A

Question papers must be handed in.

This is a closed book assessment.

Read the questions carefully and answer only what is asked.

Number your answers clearly.

Write neatly and legibly

Structure your answers by using appropriate headings and sub-headings.

The general University of Johannesburg policies, procedures and rules pertaining
to written assessments apply to this assessment.




SECTION B__[90 MARKS]

Please note: An interest table and formula which may apply to the questions contained in
Section B is provided on page 12

QUESTION 1 (1C Marks)
Identify the range of activities that can form part of a business logistics process and explain what is
meant with a total-cost or systems approach to the management of these activities (10)

QUESTION 2 (9 Marks)

Discuss a Pull-based supply chain system in terms of the following:

2.1) A descripticn of pull-based systems (3)

2.2)  Typical advantages of pull-based systems when compared to push-based systems (4)

2.3) Anexample of a business enterprise or industry operating a pull-based system with a short
motivation why you categorise it as a pull-based system (2)

QUESTION 3 {13 Marks)
A logistics manager needs to understand the key financial concepts applying to the management of
a business enterprise.

3.1)  Explain the concept of Net Profit and what logistics managers can do to improve it (4)
3.2) Explain the importance of cash for a company (2)
3.3)  Explain the concept of Free Cash Flow and how it can be improved (4)

QUESTION 4 (7 Marks)
Mhiekazi Technology Ltd manufactures and sells a specialized electronic product. The company
owns a manufacturing plant but leases the space from where it manufactures products. Below is a
recent profit calculation for Mhlekazi Technology Lid for the last financial year end.

R
Sales (40 000 units) 15 000 000
Less:
Variable expenses 10 000 000
Fixed expenses 2 000 000
Net profit 3 000 000

4.1) Calculate the contribution margin per product (2)
4.2)  Calculate the breakeven sales level for Mhlekazi Technology Ltd {2)
4.3)  Calculate the Margin of Safety (in Rands) for Mhlekazi Technology Ltd (2)
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4.4) The company is implementing new production technology which, if successful, will result in
the use of smaller premises and a reduction of rental costs with R10 000 per month. What
would be the impact of such a cost reduction be on the break-even point? (assume all else
remain the same) (1)

QUESTION 5 (8 Marks)
The owners of a small company (Maroela Holdings (PTY) Ltd) have approached you with an offer to
buy shares in the company. Due to your fraining in the BCom Logistics Management at UJ you
understand that you have to first determine the present value of future free cash flows and asset
values in order to determine whether the price offered to you is fair. From your analysis you obtained
the following information: According to the CEO of Maroela Holdings (PTY) Ltd the company expects
to generate the following free cash flows over the next four years:

After 1 year: R70 000
After 2 years: R90 000
Afier 3 years: R110 000
Afier 4 years: R120 000

It is also expected that the terminal asset value of Marcela Holdings (PTY) will be worth R450 000
after four years. The expected rate of return on equity is 15%. Currently there are 500 shares in the
company.

5.1)  Calculate the totai present value of the expected future free cash flows (4)

5.2) Calculate the current value of a share for the company (2)

5.3) The price charged per share is R1200.00. Does it represent good or poor value? Briefly
motivate your answer {2)

QUESTION 6 (9 Marks)
Underneath is the Income statement and Balance sheet for African Traders for Feb 2016. Use
these statements to answer the questions that follow.

Income statement Balance sheet

R R
Revenue 780 000 Fixed assets 350 000
Less cost of goods sold 500 000 Current assels 100 000
Gross Profit 280 000 Total assets 450 000
Less expenses incurred 160 000
Profit before interest 130 000 Equity 200 000
Interest 50 000 Long-term debt 150 000
Profit before tax 80 000 Current liabilities 100 000
Tax 30 000 Equity and liabilities 450 000
Profit after tax (Return on equity) 50 000

6.1) Calculate the Net profit margin (2)
6.2) Caiculate the asset turnover (2)
6.3) Calculate return on assets (2)
6.4) Calculate return on equity (3)
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QUESTION 7 (10 Marks)

SA Distributors operates in the retail industry and sells various high technology products. One of the
products sold by the company is an electronic measuring device by the code name HY23. The
logistics manager needs toe plan the inventory for this item.

7.1 What would be the most economic order quantity for HY23 given the following
information (show all your calculations and base your answer on the total annual ordering
costs, annual carrying costs and annual transport costs). (Formulas which you may find
useful are provided on the last page of this question paper):

Annual demand volume = 50000 units

Unit vaiue at cost = R1500

Inventory carrying cost percentage = 12% annually

Ordering costs, including handling = R450 per order

Transport costs for quantities below 700 units = R35 per unit
Transport costs for quantities of 700 units or more = R30 per unit (5)

7.2 Cailculate the safety stock requirements for HY23, given the foliowing information:
o Standard deviation of weekly sales = 35 units

e ‘Standard deviation of the lead time = 0,35 weeks
e  Average weekly sales = 700 units
e Average lead time = 2 weeks
o Service level requirement = 98% (5)
QUESTION 8 (10 Marks)

Discuss the following procurement cost management strategies:
8.1) Speculative buying (2)

8.2) Forward buying (2)

8.3) Price-change management (2)

8.4) Volume contracts (2)

8.5) Hedging (2)

QUESTION 9 (% Marks)
Logistics manager Johan Pieterse needs to consider trade-offs between inventory holding costs and
stock-out costs. He understands the cost of a stockout but asked for your advice as a newly recruited
logistics graduate, on the costs associated with inventory hoiding. Fully advise Johan on inventory
carrying costs and how it is calculated.

QUESTION 10 (8 Marks)
All modes of transport can offer international services. However, the majority of goods exchanged
internationally are transported by sea and by air.

10.1) Although airfreight rates are substantially higher than sea freight rates, air carriage does
provide savings with respect to other costs. Explain this statement. (4)

10.2) Discuss the main type of containers used on container ships and the advantages associated
with the use of containers in international transport. (4)
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Aid/Formulas relevant to section B:
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